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Independent Task

Find out how many carrots and sandwiches Spidey 
and Turtle have? 
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Independent Task

Who has more sandwiches? 
Who has fewer carrots? 
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Answers

Spidey has 12 sandwiches and Turtle has 8 
sandwiches. 
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Answers

Turtle has fewer sandwiches than Spidey. 
Spidey has more sandwiches than Turtle.  
Spidey has 4 more sandwiches than Turtle. 
Turtle has 4 fewer sandwiches than Spidey. 
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Answers

Spidey has 9 carrots and Turtle has 11 carrots. 
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Answers

Turtle has more carrots than Spidey. 
Spidey has fewer carrots than Turtle.  
Turtle has 2 more carrots than Spidey. 
Spidey has 2 fewer carrots than Turtle. 


